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a N

The three bars have a weight W, = 20 Ib,

Wg = 40 lb, W= 60 Ib respectively. If the
coetficient of static friction at the surfaces of contact
are as shown, determine the smallest horizontal
force P needed to move block A
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If the coefficient of static friction between the man’s shoes and the pole is
Us = 0.6, determine the minimum coefficient of static friction required
between the belt and the pole at A in order to support the man. The man
has weight of 180 Ib and a center of gravity at G.
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| P A disk with mass M=33 kg rests on an inclined
surface for which g, = 0.2, Determine the
maximum vertical force P that can be applied to
bar AB without causing the disk to slip at C.
el Meglect the mass of the bar,
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